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1. BEEBOLH
(1) BEIE
HABEERE 0 100 -100
HEARHEZIRIR 0 100 -100
BEEEERE 4,000 100 3,900
BEEEZIIR 4,000 100 3,900
SIMEE 29,000, 000 29, 500, 000 -500, 000
SMEE 29, 000, 000 29, 500, 000 -500, 000
BRI 0 0 0
IRtEEE 0 0 0
ZWMETE 0 100 -100
SIMEFE 0 100 -100
ZMEMSIREE 0 0 0
MR EE 0 200 -200
SZEF R 0 100 -100
MR EE 0 100 -100
EEINAEE 29,004, 000 29, 500, 500 -496, 500
(2) BEER 0
EXE 27,130, 421 29, 209, 231 -2,078,810
BEEHRE -FL 6, 150, 050 7,223, 603 -1,073,553| BE 14
BRIEEEES 0 0 0
BRBAAER 391, 389 391, 389 0
BEIELE 1,058, 271 1,042, 583 15, 688| &R
REXBE 860, 000 860, 000 0
BIEEWRE 4,263, 226 4,263, 226 0| #mELIEh
FmEENE 0 0 0
HHRERE 90, 000 110, 000 -20, 000
HERE 304, 930 275, 875 29, 055 o E—#&IFh
Bl 42, 350 42, 350 0
FNR A 2,750, 000 2,650, 000 100, 000| # =Rk L Frb6mEFETIEN
BEHE 4,074, 400 4,574, 400 =500, 000| F#A. ARIHEREEHL
SeEKE 75, 055 75, 055 0
EEH 894, 350 894, 350 0
Rz 10, 000 10, 000 0
=& 650, 000 650, 000 0
BT ik 720, 000 700, 000 20, 000| =75EEAEM
TR 0 0 0
*XihBEE 100, 000 150, 000 -50, 000
b2 N:U)5% 0 0 0
XILEF & 0 0 0
B 4,596, 400 5,096, 400 -500, 000| £EVATLER, BIREEIFZN
HE 100, 000 200, 000 -100, 000




# B THOFE | FMSHFE 1B w
EIEHE 5, 859, 873 1,159, 497 -1, 299, 624
BEERS F4 2,512,200 3,025, 139 -512,939| BEBEE 18
REEHGTE A 168, 611 168, 611 0
BAIELE 432,092 698, 7717 -266, 685
EE 250, 000 250, 000 0
REZBE 250, 000 200, 000 50, 000| EE= 2[EIFA
BIEERE 372, 000 572,000 =200, 000| {v3-tyb-BREERAFIFH,
AT E A B 0 0 0
ek mE 90, 000 220, 000 -130, 000
HEME 174,125 174,125 0
EEE 112, 650 112, 650 0
RIS AE 350, 000 350, 000 0
aEHE 0 0 0
SBKE 84, 945 84, 945 0
B 453, 250 453, 250 0
RER* 10, 000 50, 000 -40, 000 kKRR
BT 50, 000 50, 000 0
HHaR 0 0 0
XEEE 250, 000 250, 000
XIEFTE 0 0
HE 300, 000 500, 000 =200, 000
BEER 32,990, 294 36, 368, 728 -3, 378, 434
LR EERER -3, 986, 294 -6, 868, 228 2,881,934
2. BEMEBO 0
(1) #EESUNE 0
B & ET A i 0 0 0
2Rk mscEN 0 0 0
ATHIIE R IEE R 0 0 0
AR R IEE & 0 0 0
EEIE A 0 0 0
(2) BENER 0
& & ETAE 0 0 0
25k ST A48 0 0 0
KEBX 0 0 0
KEBE 0 0 0
ATHR B IE R 0 0 0
ATHIERIEIER 0 0 0
BENERE 0 0 0
LERESMEREE 0 0 0
fth 2 EHREER 0 0 0
fth= &t o DR AR 0 0 0
L HA— AR IEBK B4 2 1R BAE -3, 986, 294 -6, 868, 228 2,881,934
—RIEKBIEAEZRS 66, 368, 504 66, 688, 768 -320, 264
—RIEKRMEARES 62, 382, 210 59, 820, 540 2,561,670




